2012 Mechanisms Quiz #2 20 points NAME:

1-10) For the following cyclization which is performed in a polar, aprotic solvent:

KOH § :

Q -CHF, - O O°
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1) Write a balanced equation for this reaction.

2) Is this reaction performed under ACIDIC, BASIC or NEUTRAL conditions ?

3) Name or draw an appropriate solvent for this reaction.

4-6) This reaction proceeds through the below anion (which happens to be resonance
stabilized), draw the other resonance structure for the below anion, and then draw the

curly arrow(s) which produce(s) the resonance structure.
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7-10) Using curly arrows, write the FULL mechanism for this reaction.
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11-18) For the following substitution reaction that involves a rearrangement:

a 'b
v H,0
O =2 O w Oy
>—\ Polar >—/ ¥\
Br Solvent

11-12) indicate in BOTH of the products, where you believe carbons a and b are located.

13-18) write a mechanism (using curly arrows) that accounts for the formation of both of
the products.

BONUS POINT
What scientific name is given to describe the role of the Sulphur in this rearrangement?
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19-20) For the following reaction, bearing in mind the reaction conditions, write a correct
mechanism for this dehydration.

HO
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1) Write a balanced equation for this reaction.
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2) Is this lLdLllOl‘l performed under ACIDIC, BASIC or NEUTRAL conditions ?
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3) Name or draw an appropriate solvent for this reaction.
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4-6) This reaction proceeds through the below anion (which happens to be resonance
stabilized), draw the other resonance structure for the below anion, and then draw the
curly arrow(s) which produce(s) the resonance structure.
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7-10) Using curly arrows, write the FULL mechanism for this reaction.
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11-18) For the following substitution reaction that involves a rearrangement:
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11-12) indicate in BOTH of the products, where you believe carbons a and b are located.
[
13-18) write a mechanism (using curly arrows) that accounts [or the formation of both of
the products. e j k,l
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BONUS POINT
What scientific name is given to describe the role of the Sulphur in this rearrangement?
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19-20) For the following reaction, bearing in mind the reaction conditions, write a correct
mechanism for this dehydration.
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